PNEUMATIC COUPLING/S gy ’
PNEUMATISCHE KUPPLUNGEN. [ #5857 g7,
4 // ; /// o / // /
4 [ | ; /// j / / ///
SERIEQ25" W 7 %
[ | g 4 1
Materials Material Code
A = Brass Nickel Plated
' ' %9%0% B = Steel Nickel Plated
. - Il o 1

XK
35S
KRR

C = Brass Nickel Plated

RO
0%
R

mmvmvm-Avmvmvmu
X
I
K5

R OSOSSSINK
2020
2%
0294

XXX

S = Steel Nickel Plated

(of
B
0 - 35 bar -20° to + 100°C (NBR) Shut Off
(0-508 PSI) _4°to + 212°F Type

OM 250- 00500
OM 100 - 01000

1800 It/min D N

025GCOOM
Air Water
1,2 60
1,0 / 50
- /
5 = 40
= / 8 /
o 06 = 30 .
o g -
% 04 7/ Q 20 //
= ()
2 02 ,/ 5 /
o Ve @ 1.0 /
i [J]
o 0,0 a 0.0 _—
0 500 1000 1500 2000 2500 3000 0 20 0 6 %0
Flow Rate in I/min Flow Rate in I/min
Options Plug Profile Serie 025 Compatible with
9— TST SWING COUPLING C
— 5
AISI303 AISI316 TST 026
EPDM i - 1 | PARKER-RECTUS 2526
L e CEJN 320
S8 gwL 520, 530
O><0O 2 STAGE SWING J l PARKER PEF
0258 025K 025, 0255.08 C Series LEGRIS
20.3




PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

Euro Profile

SERIE 025

QUICK COUPLINGS SCHNELLKUPPLUNGEN

—O~ with male thread

Connection Part No. SW| L | @D
BSPT 1/8" 025RG 10 19 1563 23
BSPT 1/4" 025RG 13 19 [59.3 ] 23
BSPT 3/8" 025RG 17 19 1603 23
BSPT 1/2" 025RG 21 22 54323
M 14 x15 025EGM 14 | 19 593 23
M 16 x 15 025EGM 16 | 19 593 23
M18x 15 025EGM 18 | 19 1 60,3 23

—O)—! with plastic hose tail
L

Part No.
025 PG 06 19 1613
025PG 06-4 19 643
025 PG 08 19 1643
8x 12 mm - M 16x1 025PG 08-4 19 643
9 x12 mm - M 16x1 025 PG 09 19 643
9x13mm-M 20x15 | 025PG 09-4 21 643
1M x16 mm-M 24x15 | 025 PG 11-5 | 25 653

PLUGS STECKNIPPEL
L

S} -iﬁ
SW,

Connection Part No. Sw L

Connection

6x8 mm-M12x1
6x10 mm - M 16x1
8x10 mm - M 16x1

BSPT 1/8 025RU 10 13 33
BSPT 1/4" 025RU 13 14 37
BSPT 3/8" 025RU 17 17 37
BSPT 1/2" 025RU 21 22 43
M 14 x15 025 EUM 14 7 33
M16x15 025 EUM 16 17 B
M 18 x 15 025 EUM 18 21 38

~<— with plastic hose tail
t

Connection PartNo. |SW| L
4 x 6 mm - M 10x1 025 PU 04 - 133
6 x8 mm - M 12x1 025 PU 06 - |33

6x10 mm - M 16x1
8 x10 mm - M 16x1

025PU 06-4 17 (423
025 PU 08 17 42
8x12mm-M16x1 | 025PU 08-4 | 17 42
9x12mm-M16x1 | 025PU 09 17 142
9 x13 mm - M 20x15 025 PU 09-4 | 17 42
M x16 mm - M 22x15 025 PU11-5 | 24 |50

sw| L [#D

23
23
23
23
23
23
23

—O with female thread O~  with standard hose tail
— . = .

S
Sw| L | oD
19

PartNo. |SW| L | @D

Connection

BSP 174" 025DG13 | 19 543 23 6 mm -1/4" 025 HG 06 703 23
BSP 3/8" 025DG17 | 19 543 23 8 mm-5/16" | 025HGO08 | 19 703 | 23
BSP 172" 025 DG 21 24 563 23 9mm-5/14" | 025HG 09 | 19 703 | 23
M14x15 025DGM 14 | 19 | 533 | 23 10mm-3/8" | 025HG10 |19 703 | 23
M16x15 025DGM 16 | 19 | 533 | 23 13 mm-1/2" 025HG13 |19 | 703 | 23
M 18 x15 025DGM 18 | 22 | 533 | 23

—O>—| with panel mount standard hose tail —O>-| with plastic hose tail and spring
‘ L | L |

S\
Gonhection PartNo. |swW| L | @D [l Connecton | PartNo. |SW| L | @D |
6 mm - M 12x1 025MG06 |19 783 23 6x8 mm -M 12x1 025YG06 | 19 1518| 23
8 mm - M 12x1 025MG08 19 783 23 8 x10 mm - M 16x1 025YG08 19 1588 23
10 mm - BSP 174" 025 MG 10 19 783 23 9x12 mm - M 16x1 025YG09 |19 1588 23
< i emol ro:
L 1
1 T
J = J
sw/o
Connection Part No. SW L
BSP 1/8” 025DU 10 14 32 6mm -1/4" 025 HU 06 46
BSP 1/4" 025DU 13 17 33 8 mm - 5/16" 025 HU 08 46
BSP 3/8" 025 DU 17 19 33 9 mm - 5/14" 025 HU 09 46
BSP 1/2* 025DU 21 24 36 10 mm - 3/8" 025HU 10 48
M 14 x15 025 DUM 14 17 33 13mm-1/2" 025HU 13 48
M 16 x15 025 DUM 16 19 33 16 mm - 5/8" 025 HU 16 48
M18x15 025 DUM 18 22 33

-&{— with panel mount standard hose tail

L
L

-&— with plastic hose tail and spring

Connection PartNo. |SW| L m
6 mm - M 12x1 025MU06 | 14 | 56 4 x 6 mm - M 10x1 025YU 04 m5
8 mm - M 12x1 025MU08 14 56 6x8 mm - M 12x1 025 YU 06 165
10 mm - M 14x1 025MU10 | 16 @ 56 8 x 10 mm - M 16x1 025YU 08 1375

9 x 12 mm - M 16x1 025YUO09 | 1375



